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int I; Int I; Int I;
i=123: 1=0173; I=0X7B;
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/> EBHEHMEER intconst.c JAFEHER */
#include <stdio.h>
INt main()

1

Int I

1=123;
printf(""%d¥n",i);
1=0173;
printf(""%d¥n",i);
I=0X7B;
printf(""%d¥n",i);

return O;
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e, EL/INREEST] 0.1234E+2
(BRrk 0.1234x10™ =12.34)
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double d;
d=12.34;

double d;
d=1234e-2;

double

\
e

double d;
d=0.1234E+2;
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/*EHMTFEMEER realconst.c aAVMERE */
#include <stdio.h>
INt main()

{
double d;

d=12.34;
printf("'%6.2f¥n",d);
d=1234e-2;
printf("'%6.2f¥n",d);
d=0.1234E+2;
printf("'%06.2f¥n",d);

return O;
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BN
int | double taiseki:
Int J; _ double takasa;
_doub7le X; double teimen:
I = 7;
] = 2_;/ _ taiseki=1/3*takasa*teimen;
X=17];
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y = (-a) -(b*(-c));
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/*DD=E*/
Xx=-a+b/c*d;

y=-(a+b/c*d);

z=-((a+b)/c*d);

printf("x= %3d , y=%3d, z=%3d ¥n",X,Y,2);

return O;
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INnt a; INnt a;

double b; . |double b;
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[RENZTI 7Oy ~DERITIE
9 # TIELFED.

"1 #include <stdio.h>
#include <math.h>

#define MAX 1000

FE - JYJOobeyYTIlE
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Hdefine

#define XFFI1 XF3F2
V—ADIEHDDXFINZTXFH2IEZT A S (ERT S, )

EZETYIOTFE LT,
K%ﬁll1€‘\7’7lil%
XFy 27 I0REHELD,
BEOEHERANT =0, KEBTIEYI/OBITHNXFE
ALEWNZE, (RE4ILERISER)
1
#define M_Pl 3.14159265358979323846 /* pi */

math.nO P TIH FEZFRINTLVS,
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#difinef5!

#define EPS (1.0e-5)
Int main()

1

yukou=data+EPS;

' FICNR

INt main()

1

yukou=data+(1.0e-5);
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stdio.h: E#£EAHNH
( printf() ,scanfQOEFENEZ B L2445, )

string.h:3XF 5| LI A
(strepy(),stremp(O)FENMEZ S KDITTESH, )

stdlib.h: Z{EZ#. FEEIEIIYVETH
(atof() mallocQ)FEMNMEZ DK DH, )

math.h: #=E %

(smo cos(),sart)ZENHE 51751 B

CI AP S ]l 3

mIA4 TS E—#IZES, )
(ANYFT7ALILTEELTWLWAEHBEZRAWLSIZIE,
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printf(":31:¥n");
ORDXFHNEZRERNIHNTEH54T75EH

thOEFEFEMAETHEDGE

diag=sqgrt(2.0)*edge*2.0;
IIEL‘Z?JJ% sqrt: FABRERNHDSA1T 5B

a=2.0;
diag=sqgrt(a)*edge*2.0;
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Makefile M EEk1E /N
LYEFETHMakefile

CC = gcc

all: 774G (J—RIT7ALILHS.cEFRLN-F
D)

hEEE, ANV A TGO T, MEBEHSA1T5Y)
(MTA473)) BB —REZOINAJLTELLY,

HESATSYZRANEEEDMakefilelZ LA FTD KLSIZ5ER T3,

CC = gcc

LDFLAGS=—Im

all: EfF 74L& (J—RIT7MILH . .cxRLV =%
D)

(AAF o REHSHR)
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Makefile 5

CC = gcc
LDFLAGS=—Im
all: ETI774IWLR (J—RIT7AILDG.cHERL=E

D)
Makefile

CC=gcc
LDFLAGS=-Im
all:heron
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/*

*/
/%

£ B :yyyy/mm/dd

{ERE : A FEAER

FEEES B0OzBOXX

Y—ARX774)L:heron.c

E{TI74JL:heron

B AOCOAXEAVWCIATOEBEZRDSTOT T L
MFEHEMZHLNSHD T,
-ImDaAVINAIILA T AV BB E,

AN ZBEANNGITDEIZANT S,
ZANIT. EDOEHEL.
EDIERFIZAANINTEHELLY,

HA - 5Z6onN=-8IDRIZHO>=ZAFOEIET
SEHNIZTH AT H, AMIEIXIEDER,

J0J S LKRKIERDR—DLIE >/




#include <stdio.h>
#include <math.h>

INt main()
1
/* ZRHEES */
double edgel; /*A1DERS*/
double edge2; /*A2D RS>/
double edge3; /*A3D RS>/
double heron d; /* A0 VOARHE
D—ERTFROLEE™>/
double area; /*3AROmIE>/

/*  RR=U~EK */
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/*

/>  ANNE  */
printf("i21 DK I:¥n");
scanf("%lf",&edgel);
printf("A2N K =:¥n");
scanf("%olf",&edge?2);
printf("1I 3N KI:¥n");
scanf("%olf",&edge3);

RAR—I ik */
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/> TR ALE */
heron_d=(edgel+edge2+edge3)/2.0;

area=sqrt(heron_d*(heron_d-edgel)*
(heron_d-edge2)*(heron_d-edge3));

/>  Hham  */
printf("SAMDEIEIX %6.2f TI, ¥n",area);

return O;
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$gcc -Im heron.c -0 heron
$ ./heron
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